
S

(u, v) u ∈ S, v /∈ S
S = S ∪ v

visitaGenerica(sorg){
   = {sorg};
finché è possibile

scegli          tali che  

}



S

(u, v) u ∈ S, v /∈ S
S = S ∪ v

visitaGenerica(sorg){
   = {sorg};
finché è possibile

scegli          tali che  

}



A = A ∪ {(u, v)}

A = ∅

S = S ∪ v
u ∈ S, v /∈ S(u, v)

S
visitaGenerica(sorg){

   = {sorg};

finché è possibile
scegli          tali che  

}





A = A ∪ {(u, v)}

A = ∅

S = S ∪ v
u ∈ S, v /∈ S(u, v)

S
visitaGenerica(sorg){

   = {sorg};

finché è possibile
scegli          tali che  

}



A = A ∪ {(u, v)}

A = ∅

S = S ∪ v

S

u ← coda
u v

v /∈ S

coda ← u

visitaBFS(sorg){
   = {sorg};

coda <- sorg
finché coda non vuota

per ogni vicino       di   
se 

}



A = A ∪ {(u, v)}

A = ∅

S = S ∪ v

S

u v
v /∈ S

visitaDFS(sorg){
   = {sorg};

pila <- sorg
finché pila non vuota

per ogni vicino       di   
se 

}

u ← pila

pila ← u



v
v /∈ S

S = ∅
A = ∅

S = S ∪ {sorg}

A = A ∪ {(sorg, v)}

visitaDFS(sorg){

        per ogni vicino    di sorg
se 

  visitaDFS(v)
}



A = A ∪ {(u, v)}

A = ∅

S = S ∪ v

S

u ← coda
v u

v /∈ S

coda ← u

visitaBFS(sorg){
   = {sorg};

coda <- sorg
finché coda non vuota

per ogni vicino       di   
se 

}

v
v /∈ S

S = ∅
A = ∅

S = S ∪ {sorg}

A = A ∪ {(sorg, v)}

visitaDFS(sorg){

        per ogni vicino    di sorg
se 

     visitaDFS(v)
}




